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1. HER (LR 20 4)

LR ME TR, ORI BB BN, 4,~4em?, Ay=8cm’; Bhlianit
B E=200GPa. (1) HHAMEFFIHAE; (2) RABMEHF &R S: (3) KRB FF A
K (4) REBBEHANBRKARRE: (5) REBREHFABEFTIR: (6) RAZHEFF A2
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2. WHEE (IR 20 )

EURPR B 5 (BB mm), Bk T3 v, H AP #MEE R G=80GPa. (1) &
R (2) REEMAVIFIS; (3) REWHE D MR, (4) BD BRI (5) &K
HIRORKEME A (HXHE).
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3. WEREE (LR 20 4
B SMi SR e 55k AL, BRI ER . B 40 L=4953cm*, 31 =7.14cm, y,=12.86cm, [0,]=120MPa,
[G]1=35MPa, a=1m. (1) EHBYHEMEER; (2) REFVFTRHE[P).
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4, WEE (HERE 20 4)
ZENAREME R (a=45). R (1) BBEHENARYIN A, (2) ERAKRDPEFH: (3)
HHER BT, (4) TARKYIRA; (5) BAmls kIR .

. 20MPa
,
’% % b ‘l_«fﬁMPa
—

816 MKl /1% (1D %9 /34T




5. VTEER (ULER 20 43)

BlEARd =20mm, K L=3m, & 4% BF/EMBES E hSEOAERN = 2m 2 I E R
R LN % 4 R4, MEBMEBNA e, =4x10™ TEKFEHANFRE RS0 B A4k, W7E
£y =3x107 o PORIAGBMEREE £ =200GPa, JE#AH =025, WHIR #1[0]=160MPa , i&3R: (1)
TERIES LR F MBS M, ; (2) B =R EA KR iR

6. ERE (& 20 &) -
BUREMA Q235 Mg, e HHEMW B ELFE—EEN P=5kN MYk, EBEE H=5mm kg
HT%. S41: 2 AB R T4, L=1.13x10"mm*, W,=1.41x10°’mm’; #F CD NRERER, B#EH

& D=40mm; # /=1200mm, MR E=200GPa, P JE FR AR BR 0, =240MPa, R
BERL R n=15, REZERH n,=3. BT IZE R G54,
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7. FEER (HE 15 5)
EIZRIMAZR S it 4 RE Sy FAER, BB AB s sRIE N EL, sk 4 BHENHBENE.
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